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General Instructions
This paper contains four sections

Section A — Reading-SMarks
Section B — Writing & Grammar- 10Marks
Literature-15 Marks

Section C-
All Sections are compulsory

Section A — Reading (5 Marks
I) Read the following passage carefully:
illage. The old man was worried. His

An old man lived with his four sons ina i
with each other. He had tried telling them many

s sons would not listen to him. One day, he
1l bundle of sticks, and asked them to

de of four sticks.

sons were always quarrelling
times to avoid fighting. But hi
called his four sons. He gave them a sma
break the bundle into two. The bundle was ma

» <aid the eldest son. He took the bundle and tried to break it.
the bundle remained intact. He used more

force. He tried again and again. The bundle would not break. He gave up. Then
four sticks they also failed. Their

his brothers tried to break the bundle of
e bundle. He asked each brother to take

father smiled and asked them to untie th
one stick and try to break it. Each of the sons took a stick in hand. In no time,

the sticks were bent and broken.

“It's child’s play,
He was surprised that the sticks in

s come together it is impossible to
brothers understood and they
they can succeed in

“A single stick is easily broken. If four stick
break them,” said the old man. This time the

stopped fighting .They realized that together as a team
doing whatever work was given to them "The four boys had discovered that

unity is strength.

A




Answer the following questions by choosing correct options

I The bundle was made of
(a) three sticks
(b) two sticks
(¢) two small sticks
() four sticks

2. The brother's fought, which
(a) disturbed the father
(b) was very funny
(¢) heiped the father
(d) was very great

3. The eldest son was surprised, when
(a) the bundles broke casily
(b) the bundles were tied tightly
(¢) the sticks were perfect
(d) the sticks were mutilated

4. The boys learnt that

(2) too many cooks, spoil the food
(b) united we stand, divided we fall
(c) fewer is lesser

(d) fighting is a solution for problems

5. The antonym of “intact”, is
(a) intelligent

(b) brilliant

(c¢) broken

(d) flawless

f t ' n r

I1) Fill in the blanks with sul
Received your letter dear buddy. I am glad to tell you tha

the new fla

weekend I &)
room, but unfortunately Ib)

(break, breaks, broke,

: (1x5=5M)

(1/2:10=5M)
t | have moved into

¢ The flat has two big rooms, kitchen and a small bathroom. Last
(get, got, gets, getting) a very nice lamp for the iving

breaking) it while |
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_____ __(cleans, cleaning, was cleaning, clean) the flat, 1d) (is
fecling, feels, fecling, am fecling ) very bad for being so clumsy! Next weck |
plan to go shopping again I ¢) _(will buy, will buying, buys, buy) another
one then. This time I will be very careful.

[ have to go now, itf) _____ (are, was, were, am) nice to g)  (heard,

hear, hears, hearing) from you. Please get in touch again soon. You must hj
___ (came, come, comes, coming) to the housewarming party. | i)

(tell, tells, will tell, told) you the right day and time in a couple of weeks.
(sees, secing, seen, see) you soon. Bye

Looking forward to j)
IIT) Imagine yourself to be a tree, write an autobiography, in about 100
(5M)

words.

LITERATURE
IV) Read the extract and answer the questions. (1X4=4M)

[1I used, it will destroy,
In perfect time and measure
With a face of golden pleasure
Elegantly destroy.

1. Name the poem from which this extract has been taken.

2. Name the author of the poem.

3. Whom does the poet warn?
4, What happens when “it” is well used?

V) Answer the following in 30-40 : (2x3=6M)
1. What is the moral of the story ‘The Old Man and Death’ from The Aesop’s

Fables?
2. Why do penguins die when kept at a zoo?
3. In the lesson Little Women, why were the sisters not able to buy their

Christmas gifts?
(5M)

VI) Answer the following in 70-80-words:
1. In the lesson Aesop’s Fables, why does the labourer capture the

nightingale? What advice does the nightingale give to the labourer?
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PERIODIC TEST -2 (2022-23)
SUB: MATHEMATICS
No. of printed sides: 3

Class: 5 Reading Time: 8 to 8.10am

Date: 15 /12/22 Writing Time: 8.10 to 9.10am

Maximum marks: 30

General instructions:

This Question paper has 5 Sections A-E
Section A has 6 MCQ's carrying 1mark each.
Section B has 3 questions carrying 2mark each.
Section C has 3 questions carrying 3mark each.

Section D has 1 question carrying Smark.
Section E has 1 case study based question with subparts of values 1, 2

2 L i

and 1 mark each respectively.
Section—-A
Choose the correct alternative
1) The decimal form of 9/10 + 6/1000 is

(a) 9.6 (b) 0.9 60 (c) 0.906 (d) 96.6

(1x6=6)

2) The average of first 4 odd nos. is

(a) 8 ' (b)3 (c) 5 (d) 4

3) T14.50isequalto____ paise.

(a) 1450 paise  (b) 145 paise (c) 1400 paise  (d) 14500 paise

4) The value of the circled digit in 24.03 5 is

(a) 3tens (b) 3ones (c) 3tenths (d) 3hundredths

5) If the cost of 8 chocolates is X 40, then the cost of one chocolateis ___.

(a) X5 (b) X 320 (c) % 80 (d) T 40




») The productof 7.5and 20is .
) 14 (b) 15 (c) 150 (d) 752
Section - B (2x3 = 6)
7) Simplify 45.6+ 17.35-23.475
) Subtract X 798 from X 1320

£ & children are 125cm, 130cm, 142¢cm, 132cm, 128cm and

¢m. Find their average height?

Section-C (3x3=9)

10! (3) Convert 16450 paise into rupees

b) Find the sum of X293.50 and X 149.50
11) (a) Divide 3262.50 by 9

(b) Convert 13/20 into decimal.
12) (a) What should be added to 356.47 to get 500 ?

b) Convert the following into like decimals

7.9, 12435, 3.8
(5 marks)

Section-D

13) Sohan purchased the following items from Laksh Provision Store and the
2ill number is 485 . The rates of the following items are as follows : 5kg Rice at
I 56 perkg, Dal 3kg at 37 per kg and 2kg Ghee at X 575 per kg . Prepare a bill .




Section-E

Case study

(4 marks)

14) Mohit, Karan and Divya participated in a group music competition and won
the first prize. They received X 1500 as cash prize and decided to buy a few

snacks.

The rates of the snacks were as follows : Samosa - %15,
Chocolate candy — X12, Kachori — 18 , Puff — %23

a) How much amount did each child get?

b) Karan ate 2 samosas and Divya ate 4 chocolate candies.

How much did each of them spend?
c) Mohit ate 2 puff. How much did she spend?

AR AL AR R R R R R R RN ]

(1)
(2)

(1)
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] Class:$ Periodic Test 11 (2022-23)  Time:1Hr
Date: 1312/ 22 Subject: Science Marks:30
No. of sides-2
General instructions:

*  Write your name, roll number, class, section, date
and subject clearly in your answer script.

e  Write the page number on right hand side top corner of
each side of the paper.

* All questions are compulsory.

||
| PCmnpl«c» the analogy.

| 2. Skull : :: Spine : 33bones
| 3. Mammals : humans :: Aquatic mammals :
| 4 Shoulder girdie : :: Hip girdie : pelvic girdle

|| |

1. Reptiles : :: Ducks : flippers "'i"".

E i
n Emmmblmn A% =4
i 1. The brain is protected by & fluid called as
. | 2. The surrounding in which the animals live is called
as :
3, A reflex action is an automatic reaction of the body 10 2

g e T
| 4. Animals like snails and torotse protect themselves with
the help of .

" T Give two examples for the following.

|11 1. Animals that breathe through their body surface
| | 2. Voluntary muscles.

| | 3. Lower arm bones.

4. Two fresh water habstas

P —




IV ] Differentiate between the following
1 Herbivores and Camivores

-

Sensory nerves and Motor nerves

| WIS SRR

|V Answer the following

1. a. What is migration?
b. Why do animals migrate”?
¢. Give two examples of migratory birds
2. List any three functions of the skeletal system

3. Tigers and Zebra have a unique property that helps them to

protect themselves in the given surrounding.
a. What is that property called?
b. How does it heips the animals?

c. Give names of any other two animals that show this

| property.

|
b

!
i

2t i=4

[ VI il) What are tendons”?

' b) Identify the following joints and mention any one location

of the same. p
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o PERIODIC TEST -2
SUBJECT: SOCIAL SCIENCE

Name: Date: 16/12/2022
Class: V A/ B/ C Marks: 30
Roll no: _ Time: 8.00-9.00 AM
- No of sides printes: 2
al. Choose the correct option: (5x1=5)
1: invented the clinical thermometer. (< .

a) Alexander b) Daniel Gabriel Fahrenheit
c) Wilhelm Roentgen d) Sushruta

2. The is a method that is widely used by blind people to read
and write. O
a) Braille system b) printing c) press d) Louis Braille

3. In India the oldest scripts have been found on the seals of the

S =

: ()
a) River b) Indus Valley Civilization c) Egyptian Civilization
d) British Civilization
4. George Stephenson is known as the . ( )

a)Father of engine  b) Father of minerals ¢} Father of railways
d) Father of streamers.

5. The leader of group Khudai Khidmatgars was .t )

a) Mahatma Gandhi b) Hemu Kalani c) Britishers d) Pessumal Kalani




QIl. Fill in the blanks : (ax1=4)

1. Enginee:rs designed better machines which produced greater amount of
electricty and these: were named as

2. Most 1of the vaccinations are administered by

3.A __isastandard set of letters or symbols which is used to
writ e a language.

4. Th e treatment of injuries or disorder of the body by incision using instrument
is called

Cihl. Arnswer the following : (10x1=10)

What are hieroglyps? a
Explain the term printing. | 3
How do we rnake use of an microscope?

State the use of ECG or electrocardiogram.

Define language.

Draw stethoscope.

What is ian antibiotic?

Define ianaesthesia.

. What @re sources of energy?

10. Namie the first fuel which was used on a large scale in machines.

11 .Write a short note on the concepts of zero and decimal system. (3)

© o N U WwN

12. Write about the experiment of Benjamin Franklin. (3) ‘4
13.a) 'What do you mean by Industrial Revolution? (1)

b)What led to beginning of the factory system? (2)

c¢)\Write any three advantages of the Industrial Revolution. (2)

XXXXXXXXXXXXXXXXXXXXXXXXXX




